10“% L
103é
102é
sof-

-

b

0.5

—25—20—15—10 5 O 5 10 15 20 2

[V of associate

d (recoToSim) tracks vs dxy(PV)

0%

0

10°F--iee

L L L PEUUIL T L L L
-25-20-15-10-5 0 5 10 15 20 2!

. e .

sociated (recoToSim) looper tracl

ks vs dxy(PV)

—— DQM_DisplacedSUSY__mkFit_

[Nofrecomackvsd —— DQM_DisplacedSUSY__mkFit_BDT_

1080604020 02040608

N of associated (recoToSim) tracks vs dz(PV) |

N of associated (recoToSi

o
2

1 if
& Hﬁiﬂ* {HH }{H ’r* {H#[J H {H

o

+H

i

-1 —05

o

o

.6}

10°p- =
0%
102

Fr e

10f :

i

¥ tﬂ H{ 4*}+ +ﬁ+++}+ +iH H¥HP1+H

LA -LE LR {J
Hﬂ '}' 11“1 *[n. nlf]*:u"'hlﬂi

-1 08—06—04—02 0 02040608

1

ociated (recoToSim) looper tracks vs dz




	Contents
	Page 1


